F—RAH—5> FIJ btzy FRiRsEiig

2024F3HA1HE
X5 Emd ARFEMIE (Fiad)
g—Ftv bk (Dv+-) 3,000M = 3,200H
g—Ftv b (JrF>>1) 3,000H = 3,200H
g—Ftv b (HLy M) 3,300M = 3,500M
T—FEREFEY S (DyvF—-TaF>2>1) 4,000 = 4,200
T—FEREFY S (OvF—-HLw ) 4,300 = 4,500
N T—FEBEFEY S (DaF>2x - ALY ) 4,300 = 4,500
T—FEREFY N (DyvF— - J)NDA) 4,000 = 4,200
RETLY NOYVF— - TaF>>x - HLyh) 3,500H = 3,700H
REFLY NOYVF— - TaF>>x - JNDILAL) 3,500M = 3,700H
REFECY NOVvF— - Ta4F>>1) 2,300M = 2,500
REF2ECY MNHOLY - TJaF>1) 2,500MH = 2,700H
RETF2IETY NOvF— - JNIDTLA) 2,300H = 2,500H




